
Normal Modes: 1

This is zero
at a minimum.



Normal Modes: 2

(this describes an oscillation with one frequency, i.e.
a normal mode)



• We will describe this e- value problem
in the next section

.
Here we precede

with a simple method that always works :
# #

* ( IK - wi INI ) E -
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•@ This has non - trivial solutions ( Eto ) only
when

det ( IK - w21M ) = 0

This characteristic polynomial has roots

Xa=w2a with a =/ . . . .
N

Once you know da you can substitute
into A

,
and determine the eigenvector for each

a
,
Ea with a =/. . . N

80 The general solution is an expansion
.

xsict) = Ea c; Eade
- iwat + c ? Eat etiwat

9
general solution

Now you should adjust the coefficients
CF and C? to reproduce the initial conditions
for x :

XJCO) and ZICO )



Normal Modes: 3



Normal Modes: 4



Normal Modes: 5



Normal Modes: 6


